EAGRAROBREERT — 2 N— ABISH —F

2020518210 (k) 16mAFH2H

Gl v 7 %—fx C1EN

(xwlw | mEmml - |5 ) o s

[A~&£] 17 :1,200,000  ~ 23 :480,000 § 37 :300,000 § ~ 43 :180,000 @ 5 7 :120,000 M

BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
AT AT €25 5ESJI(I)Q 1:44.9 5-4-5-5 | 40.0| — 1 452 J:(g)%%: (ﬂ;)_ -
- : (=) - ——AT—
RiAAYagR—5— B:FH¥—rFv—L (-4) BMILmKS
B4 kyTO- K # 5 t_;i%}%f@% 1( :44.5)) 9-9-7-4 |39.9| — | 2 | 502 ;{Eﬂi (R#)
. 7E » FESE
R:TvIT—L BiEavFcu D
F—ZXZX Oy o4 g%l%m?ﬁ 1:(425>.3 8-8-8-8 | 40.2| — 4 437 ?Z\Etg %(7:#>
R REPTYE—> BTF=—T% 10| s
EFJ hS—X LI ﬁﬂm 1:45.7 3-3-2-2 |41.0| — 8 450 iﬁ;ﬂjﬁ ()\#h)
: @ )
VKUY YRTR B FALEALY SO S PP
T YNT 48 f;!;?gﬁl 1:45.9  [13-12-12-12| 40.4 | — | 10 | 479 Bjiﬁ?g% (/1vHE)
. 1 INRE
RX—=VFNTyia BTLAIYISINL “ © ENCEREIZ ¢
61815 71— KvVTIL Ho4 ?‘g?ﬁi{' 1(74?:5) 7-7-6-6 |41.1| — | 5 | 503 Eﬁg@(d\w
QT b T-NEY BTIATLRE Y b ) | mmiangis
7159 AV¥aTIHIR # 5 | BEX 1(:14/62.>I -1-1-1 | 414 — | 6 | 487 iuﬁ_;gﬁf (INHE)
QYIRTTTR BHL KA —F R 12| sy
glzlio| Fz 1> KLt = i 4 5@4*3&2@ 1(:14;32.)2 10-10-10-10{ 40.9 | — 12 | 414 ggz’gz (XH#H)
R:b—t hILAY BOAXETLROAL D ey gLy k790
9l7l13| FA—T2T7 I H 6 E%fi;iﬁ@ 1:(426).6 14-14-13-13/ 40.7 | — | 9 | 512 E%;ﬂ% (K3)
L:7A7% B:L—-F 0—Ya (-6) 335t e ]
wl1l1|¥—k=2 i 5 ﬁﬂal‘i%ﬁ (11:416/.29) 1-10-10-11{ 41.4 | — 1 | 436 Eﬁg% (XF)
RixLgAqO— B:ILCFR—JL 8 | sap 7 o5 748
11l5l8| 77FFv=v?y # o4 | NBIEAR 174?:? 6-6-9-9 [41.9| — | 13 <4+562) ,?.?E:i%ﬁ (k)
R:TFv 84K BiHIXIvILT 1 DS
1 R 44 suélmg.ﬁi 1(:;/(4.)0 15-15-15-15| 40.5 | — 14 | 44 ﬁk(g)*’é%éécﬁ)_ﬁ/_?a}
RTUF—Y BiRSIATE— 0 5 e s
130810 7 —FNT2-F+ B4 ﬁ%ﬁi 1(;7t1 2-2-3-3 | 42.4| — 3 475 g%ﬁg ()
R:70F—v B:TFrEMT7Y (-3) INEERR i
14 6| F7vITINT 1 H o4 sﬂg‘f’%it 1:(417).3 12-13-14-14| 416 | — | 7 | 510 _;L;Ejéz (k%)
L:A—LiFL4Aa B:ICRKLATLY 1) #1145
1518 |14| AR EHEY 4 8 556_93?5*}@ 1:(427>.7 4-5-4-7 |43.0| — 15 329) Eﬂééi (k)
ARG 4 TTR BRI HT—X 75> Fiig
® I —F—@EBIERL
13—~ [9,10,11,14,5,8,15,2,7,12,1,6,3,13,4
23 =7= 9,10,11,5,14,8,15,2,7,(1,12) ,3,6,13,4
dol=3r= 9,11,10,14,5,15,7,2,8,(1,12),3,13,6,4
41—+ — 9,11,10,7,5,15,14,2,8,12,1,3,13,6,4
[ N3
BB 5 180H4 714K 5-7 240M e 3-4 530 3JEHE 2-5-7 1,200
8 B 5 1209 2-5 320M B 3-4 800M K31 B=11=72 3,590
7 1509 2-7 430 B E 5-7 560
2 180F4 B H# 5-7 920M

ARICOVWTRDTEEERROODE. TR LI,




